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1. A liquid drop and a soap bubble have the same

radius. If p
1
 be the excess pressure inside the liquid

drop and p
2
 be the excess pressure inside the soap

bubble, then : -

(1) p
1
 = p

2
(2) p

1
 = 2p

2

(3) p
2
 = 2p

1
(4) p

2
 = 4p

1

2. When sound waves travel from air to water which

of these remains constant ?

(1) Velocity (2) Frequency

(3) Wavelength (4) Amplitude

3. The coefficient of linear expansion of copper is

one and half times that of iron. Copper and iron

rods of same length and of same area of cross

section are heated through same range of

temperature. The ratio of their stress will be : -

[Y of iron = 2Y of copper]

(1) 2/3 (2) 3/4 (3) 4/3 (4) 9/4

4. For the wave shown in figure, value of frequency

is, if its speed is 320 m/sec, are:-

y

O
x=20cm

t

(1) 400 Hz (2) 40 Hz

(3) 4000 Hz (4) 8000 Hz

5. Water enters through end A with speed v
1
 and

leaves through end B with speed v
2
 of a cylindrical

tube AB. The tube is always completely filled with

water. In case I tube is horizontal and in case II

it is vertical with end A upwards and in case III

it is vertical with end B upwards. We have

v
1
 = v

2
 for : -

(1) Case I (2) Case II

(3) Case III (4) Each case
6. A transverse wave is described by the equation

y = y0sin2
x

ft
 

 
 

. The maximum particle

velcoity is equal to four times the wave velocity
if :-

(1)  = 
0y

4


(2)  = 0y

2



(3)  = y0 (4)  = 2y0

1. 

p
1 


p
2 
 : -

(1) p
1
 = p

2
(2) p

1
 = 2p

2

(3) p
2
 = 2p

1
(4) p

2
 = 4p

1

2. 
 ?
(1)  (2) 
(3)  (4) 

3. 

    



  : -

[Y of iron = 2Y of copper]

(1) 2/3 (2) 3/4 (3) 4/3 (4) 9/4

4. 320 m/sec

 :-

y

O
x=20cm

t

(1) 400 Hz (2) 40 Hz

(3) 4000 Hz (4) 8000 Hz

5.  AB  A v
1
 

B v
2 


     I 
  II   (A )   III
(B ) v

1
 = v

2
 :-

(1)  I  (2)  II 
(3)  III  (4)   

6. y = y0sin2
x

ft
 

 
 

 



 :-

(1)  = 0y

4


(2)  = 0y

2



(3)  = y0 (4)  = 2y0

BEWARE OF NEGATIVE MARKING

HAVE CONTROL  HAVE PATIENCE  HAVE CONFIDENCE  100% SUCCESS

     



23–03–2013

2/34 H

MAJOR TEST

Your Target is to secure Good Rank in Pre-Medical 2013

TARGET : PRE-MEDICAL 2013 (NEET-UG)

7. In which one of the following cases will the liquid

flow in a pipe be most streamlined : -

(1) Liquid of high viscosity and high density

flowing through a pipe of small radius

(2) Liquid of high viscosity and low density

flowing through a pipe of small radius

(3) Liquid of low viscosity and low density

flowing through a pipe of large radius

(4) Liquid of low viscosity and high density

flowing through a pipe of large radius

8. For a particle undergoing SHM, the velocity is

plotted against acceleration. If curve will be?

(1) a straight line (2) a parabola

(3) a circle (4) an ellipse

9. At what speed the velocity head of a stream of

water be equal to 40 cm of Hg : -

(1) 282.8 cm/sec (2) 432.6 cm/sec

(3) 632.6 cm/sec (4) 832.6 cm/sec

10. A railway engine whistling at a constant frequency

moves with a constant speed. It goes past a

stationary observer standing beside the railway

track. The frequency (n) of the sound heard by the

observer is plotted against time (t).  Which of the

following best represents the resulting curve ?

(1) n

t

(2) n

t

(3) n

t

(4)  n

t

11. A body takes 10 minutes to cool from 90 ºC to

80 ºC. If the room temperature is 25 ºC. How much

time will it take to cool from 80 ºC to 70 ºC :-

(1) 12 minute (2) 15 minute

(3) 10 minute (4) 8 minute

12. Two waves travelling in the x-direction one

represented by Y
1
 = A sin(t – x) and Y

2
 = A cos

(x +t – /4). Where Y
1
 and Y

2
 are the

displacements of the particles of the medium, t is

time, and  and  are constant. The two waves

have different:

(1) Speeds (2) Velocity

(3) Wave lengths (4) Frequencies

7.       
  : -

(1) 


(2) 


(3) 


(4) 



8. SHM    

?

(1)  (2) 

(3)  (4) 
9. 40 cm

    : -

(1) 282.8 cm/sec (2) 432.6 cm/sec

(3) 632.6 cm/sec (4) 832.6 cm/sec

10. 





?

(1) n

t

(2) n

t

(3) n

t

(4)  n

t

11. 90 ºC 80 ºC 10 
25 ºC 80 ºC 
70 ºC      : -
(1) 12  (2) 15 
(3) 10  (4) 8 

12. x-

Y
1
 = A sin(t – x)  Y

2
 = A cos (x +t – /4). 

Y
1
  Y

2
 t 

      

 

(1)  (2) 

(3)  (4) 
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13. A sphere, a cube and a thin  circular plate, all

of same material and same mass are initially

heated to same high temperature : -

(1) Plate will  cool fastest  and cube the

slowest

(2) Sphere will cool fastest and cube the

slowest

(3) Plate will cool fastest and sphere the

slowest

(4) Cube will cool fastest and plate the

slowest

14. Some springs are combined in series and parallel

arrangement as shown in the figure and a mass

m is suspended from them. The ratio of their

frequencies will be :

K

K K K

mm

K

(1) 1 : 1 (2) 2 : 1

(3) 3  : 2 (4) 2 : 3

15. A liquid is kept in a cylindrical vessel which is

being rotated about a vertical axis through the

centre of the circular base. If the radius of the

vessel is r and angular velocity of rotation is ,

then the difference in the heights of the liquid at

the centre of the vessel and the edge is : -

(1) 
r

2g


(2) 

2 2r

2g



(3) 2gr (4) 

2

22gr



16. The maximum K.E. of a oscillating massless

spring is 5 joules and its amplitude 10 cms. The

force constant of the spring is :

(1) 100 N/m (2) 1000 N–m

(3) 1000 N/m (4) 1000 W

13.      

     : -

(1) 


(2) 


(3) 


(4) 


14. 

m 

 

K

K K K

mm

K

(1)  1 : 1 (2)  2 : 1

(3) 3  : 2 (4) 2 : 3

15.   

   

      r     

               

   : -

(1) 
r

2g


(2) 

2 2r

2g



(3) 2gr (4) 

2

22gr



16. 

5 10 


(1) 100 N/m (2) 1000 N–m

(3) 1000 N/m (4) 1000 W
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17. The relation between rms velocity, v
rms

 and the

most probable velocity, v
mp

, of a gas is-

(1) v
rms

 = v
mp

(2) rms mp

3
v v

2


(3) rms mp

2
v v

3
 (4) rms mp

2
v v

3


18. The total vibrational energy of a particle in S.H.M.

is E. Its kinetic energy at half the amplitude from

mean position will be :

(1) E/2 (2) E/3 (3) E/4 (4) 3E/4

19. Pressure versus temperature graph of an ideal gas

is as shown in figure. Density of the gas at point

A is 
0
. Density at point B will be-

A

P

3P0

P0

B

T0 2T0

T

(1) 0

3

4
 (2) 0

3

2
 (3) 0

4

3
 (4) 2

0

20. The particle is executing S.H.M. on a line 4 cms

long. If its velocity at mean position is

12 cm/sec, its frequency in Hertz will be :

(1) 2/3 (2) 3/2 (3) /3 (4) 3/

21. Two thermally insulated vessels 1 and 2 are filled

with air at temperatures (T
1
,T

2
), volume (V

1
,V

2
)

and pressure (P
1
,P

2
) respectively. If the valve

joining the two vessels is opened, the temperature

inside the vessel at equilibrium will be-

(1) T
1
 + T

2
(2) (T

1
 + T

2
)/2

(3) 
 1 2 1 1 2 2

1 1 2 2 2 1

T T P V P V

P V T P V T




(4) 

 1 2 1 1 2 2

1 1 1 2 2 2

T T P V P V

P V T P V T





22. The acceleration of a particle in SHM at 5 cms

from its mean position is 20 cm/sec2. The value

of angular velocity in radians/sec will be :

(1) 2 (2) 4 (3) 10 (4) 14

23. A balloon contains 1500 m3 of helium at 27ºC

and 4 atmospheric pressure. The volume of helium

at –3ºC temperature and 2 atmospheric pressure

will be-

(1) 1500m3 (2) 1700 m3

(3) 1900 m3 (4) 2700 m3

17. v
rms

 
v

mp
   

(1) v
rms

 = v
mp

(2) rms mp

3
v v

2


(3) rms mp

2
v v

3
 (4) rms mp

2
v v

3


18. E 



(1) E/2 (2) E/3 (3) E/4 (4) 3E/4

19. 
A  

0
 B    -

A

P

3P0

P0

B

T0 2T0

T

(1) 0

3

4
 (2) 0

3

2
 (3) 0

4

3
 (4) 2

0

20. 4 

12 

(1) 2/3 (2) 3/2 (3) /3 (4) 3/

21.   (Thermally insulated) 1 2 

(T
1
,T

2
), (V

1
,V

2
) (P

1
,P

2
)





(1) T
1
 + T

2
(2) (T

1
 + T

2
)/2

(3) 
 1 2 1 1 2 2

1 1 2 2 2 1

T T P V P V

P V T P V T




(4) 

 1 2 1 1 2 2

1 1 1 2 2 2

T T P V P V

P V T P V T





22. 5 
20 




 
(1) 2 (2) 4 (3) 10 (4) 14

23.    27ºC 4 

1500 3 –3ºC

2 
(1) 1500m3 (2) 1700 m3

(3) 1900 m3 (4) 2700 m3

  Key Filling     
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24. The wave length of light received from a distance

galaxy is 0.5% greater than that received from an

indentical source on the earth, then findout

velocity of galaxy :-

(1) 
c

100
(2) 

c

200

(3) 
c

50
(4) 

c

2000

25. The figure below shows the plot of 
PV

nT
versus

P for oxygen gas at two different temperatures.

Read the following statements concerning the

curves given below :

T2

T1

P
V

n
T

(J
. 
m

ol
K

)
–1

–1

P

(i) The dotted line corresponds to the 'ideal' gas

behaviour.

(ii) T
1
 > T

2

(iii) The value of 
PV

nT
 at the point, where the

curves meet on the y-axis is the same for all gases.

Which of the above statement is true ?

(1) (i) only (2) (i) and (ii)

(3) All of these (4) None of these

26. If y
1
 = 2 cos t

6
 

  
 

 and y
2
 = 4 sin t

6
 

  
 

,

then phase difference between two will be

(1) 150° (2) 30° (3) 180° (4) 270°

27. The average translational energy and the rms

speed of molecules in a sample of oxygen gas at

300K are 6.21 × 10–21 J and 484 m/s respectively.

The corresponding values at 600K are nearly

(assuming ideal gas behaviour) :

(1) 12.42 × 10–21 J, 968 m/s

(2) 8.78 × 10–21 J, 684 m/s

(3) 6.21 × 10–21 J, 968 m/s

(4) 12.42 × 10–21 J, 684 m/s

24. 
 0.5%




(1) 
c

100
(2) 

c

200

(3) 
c

50
(4) 

c

2000

25. 
PV

nT

P      
   

T2

T1

P
V

n
T

(J
. 
m

ol
K

)
–1

–1

P

(i)      
(ii) T

1
 > T

2

(iii) 
PV

nT
       y- 

     

    

(1)  (i)

(2) (i)  (ii)
(3)  
(4)   

26. y
1
 = 2 cos t

6
 

  
 

  y
2
 = 4 sin t

6
 

  
 

,


(1) 150° (2) 30° (3) 180° (4) 270°

27. 300K  
     
6.21 × 10–21 484 600K 
   
  
(1) 12.42 × 10–21 , 968 
(2) 8.78 × 10–21 , 684 
(3) 6.21 × 10–21 , 968 
(4) 12.42 × 10–21 , 684 



23–03–2013

6/34 H

MAJOR TEST

Your Target is to secure Good Rank in Pre-Medical 2013

TARGET : PRE-MEDICAL 2013 (NEET-UG)

28. An ambulance blowing siren of frequency 700Hz

is moving towards a vertical wall with velocity

of V. The velocity of sound is 352m/s.Then

frequency of reflected sound is 708 Hz determine

"V"

(1) 4 m/s (2) 2 m/s

(3) 8 m/s (4) 1 m/s

29. A liquid having coefficient of cubical expansion

is filled in the container having coefficient of

linear expansion . If on heating the liquid

overflows, then which of the following relations

is correct ?

(1) 
 
=

 
2 (2) 

 
<

 
3

(3) 
 
>

 
3 (4) 2

 
=

 
3

30. Longitudinal waves produced by a ship is received

again from the sea bottom in duration of 2s. If

volumetric elesticity of water is

2.2 ×109 N/m2 and density is 1.1 × 103 kg/m3 then

find the depth of sea.

(1) 1414 m (2) 2828 m

(3) 707 m (4) Zero

31. Boiling water is changing into steam. Under this

condition the specific heat of water is-

(1) zero (2) one

(3) infinite (4) less than one

32. In a streched string the speed of wave is

20 m/s. frequency 50 Hz. Then find the time

difference in viberation of two point at string

situate 10 cm far.

(1) 
1

100
s (2) 

1

50
s

(3) 
1

200
s (4) 

1

150
s

33. 80 g of water at 30ºC is poured on a large block

of ice at 0ºC. The mass of ice that melts is :

(1) 30 g (2) 80 g

(3) 150 g (4) 1600 g

34. A Standard tuning fork contains frequency

n
0
, another TF n

A
 have 20% more compared to n

0
,

n
B
 30% more compared to n

0
, n

A 
 & n

B
 have beat

relation of 7 beat/sec.then determine n
0

(1) 60 Hz (2) 70 Hz

(3) 72 Hz (4) 78 Hz

28.  700Hz 

V m/s. 
352 m/s. 

708 Hz V
 :-
(1) 4 m/s (2) 2 m/s

(3) 8 m/s (4) 1 m/s

29.  

 



 
(1) 

 
=

 
2 (2) 

 
<

 
3

(3) 
 
>

 
3 (4) 2

 
=

 
3

30. 

2.0 

  2.2 ×10
9

 N/m
2

  

1.1 × 10
3
 –3

 

(1) 1414 m (2) 2828 m

(3) 707 m (4) Zero

31. 
        
(1)  (2) 
(3)  (4)  

32. 20 m/s. 50 

10 

 

(1) 
1

100
s (2) 

1

50
s

(3) 
1

200
s (4) 

1

150
s

33. 30ºC 80 0ºC 
      
(1) 30  (2) 80 
(3) 150  (4) 1600 

34. n
0
 

(n
A
), n

0 
20% 

(n
B
), n

0
 30% 

n
A 

 n
B
 7 

n
0
 

 


(1) 60 Hz (2) 70 Hz

(3) 72 Hz (4) 78 Hz
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35. During melting process, the heat given to a body

is utilized in :

(1) increasing the temperature

(2) increasing the density of material

(3) increasing the average distance of the molecules

(4) decreasing the mass of the body

36. Tunning fork having n = 300 Hz. produces

5 beats/sec. with another T.F. If impurity is added

on the arm of known tuning fork number of beats

decreases then frequency of unknown T.F. is

(1) 300 Hz (2) 295 Hz

(3) 305 Hz (4) 303 Hz

37. An ideal gas is taken through a cyclic

thermodynamical process through four steps. The

amounts of heat involved in these steps are; Q
1

= 5960 J, Q
2
 = –5585 J, Q

3
 = –2980 J,

Q
4
 = 3645 J respectively. The corresponding

works involved are ; W
1
 = 2200 J, W

2
 = –825J,

W
3
 = –1100J and W

4
 respectively. The value of

W
4
 is-

(1) 1315 J (2) 275 J

(3) 765 J (4) 675 J

38. Two sound waves emitted by one sound source

is approaching at a point through two path. When

path difference is 30 cm or 60 cm, then points are

silence point if speed of sound in air 330 m/sec

then find the frequency of sound source.

(1) 1100 Hz (2) 550 Hz

(3) 687.5 Hz (4) 5500 Hz

39. The pressure and density of a diatomic gas

( = 7/5) change adiabatically from (P, ) to (P',').

If (P'/P) = 32, ('/) should be equal to-

(1) (1/128) (2) 32

(3) 128 (4) none of these

40 During interference phenomenon of two wave it

is observed that amplitude  ratio of waves is

5 : 4. Find the intensity ratio in resulting wave.

(1) 
25

16
(2) 

81

1
(3) 

81

16
(4) 

25

1

41. A Carnot engine takes in 3000 kcal of heat from

a reservoir at 627ºC and gives it to a sink at 27ºC.

The work done by the engine is :

(1) 4.2 × 106J (2) 8.4 × 106J

(3) 16.8 × 106J (4) zero

35.       
  
(1)   
(2)   
(3)     
(4)    

36. n = 300 Hz. 

5 

 


(1) 300 Hz (2) 295 Hz

(3) 305 Hz (4) 303 Hz

37. 
(steps) 
  
Q

1
 = 5960 , Q

2
 = –5585 , Q

3
= –2980 ,

Q
4
 = 3645     

W
1
 = 2200 , W

2
 = –825 , W

3
 = –1100

W
4
 W

4
    

(1) 1315 J (2) 275 J
(3) 765 J (4) 675 J

38.    (Paths) 

30 60 (silence)

330 

(1) 1100 Hz (2) 550 Hz
(3) 687.5 Hz (4) 5500 Hz

39. ( = 7/5) 
 (P, )  (P',')   
  (P'/P) = 32, ('/)    
(1) (1/128) (2) 32

(3) 128 (4)   

40.    

5 : 4 



(1) 
25

16
(2) 

81

1
(3) 

81

16
(4) 

25

1

41. 627ºC 3000

27ºC 
        
(1) 4.2 × 106J (2) 8.4 × 106J

(3) 16.8 × 106J (4) 
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42. A gas is heated at constant pressure. The fraction

of heat supplied used for external work is-

(1) 
1


(2) 

1
1
 
  

(3) –1 (4) 2

1
1
 
  

43. For an adiabatic expansion of a perfect gas, the

value of P/P is equal to-

(1) 
V

V


(2) 

V

V




(3) 
V

V


 (4) 

2 V

V




44. The P-V diagram of a certain process (Carnot

cycle) is as shown in the figure. The process is

represented as :

P

V

B

C
D

A isothermal

isothermal

ad
ia

b
at

ic

ad
ia

b
at

ic

V

(1) 

T

V
V

A B

D C (2) 

P

V
T

B C

A D

(3) 

A B

CD

T

V
V

(4) 

P

V
T

D

C
A

B

45. A gas under constant pressure of 4.5 × 105 Pa

when subjected to 800 kJ of heat, changes the

volume from 0.5m3 to 2.0 m3. The change in

internal energy of the gas is-

(1) 6.75 × 105J (2) 5.25 × 105J

(3) 3.25 × 105J (4) 1.25 × 105J

42.   
   
     

(1) 
1


(2) 

1
1
 
  

(3) –1 (4) 2

1
1
 
  

43. P/P 
 

(1) 
V

V


(2) 

V

V




(3) 
V

V


 (4) 

2 V

V




44. P-V 
        
 

P

V

B

C
D

A isothermal

isothermal

ad
ia

b
at

ic

ad
ia

b
at

ic

V

(1) 

T

V
V

A B

D C (2) 

P

V
T

B C

A D

(3) 

A B

CD

T

V
V

(4) 

P

V
T

D

C
A

B

45. 4.5 × 105   
 800      
0.5 3 2.0 3 
   
(1) 6.75 × 105  (2) 5.25 × 105 
(3) 3.25 × 105  (4) 1.25 × 105 

Use stop, look and go method in reading the question
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46. Correct order of electron affinity is :-

(1) P > Si > Cl (2) Cl > P > Si

(3) Cl > Si > P (4) Si > P > Cl

47. Which process requires maximum absorption

of energy :-

(1) Na  Na+ + e–

(2) K  K+ + e–

(3) C+2  C+3 + e–

(4) Ca+1  Ca+2 + e–

48. Which has least tendency to form uninegative

ions in gaseous state :-

(1) I (2) Cl (3) Br (4) F

49. Which has smallest radius :-

(1) Cl– (2) S–2 (3) K+ (4) Ca+2

50. Which has highest melting point :-

(1) Li (2) Na (3) K (4) Rb

51. Which property always increases from top to

bottom in a group :-

(1) Metallic character

(2) Electronegativity

(3) Density

(4) All of these

52. Which group elements are not representative

element :-

(1) Alkali metal

(2) Gr. 14 elements

(3) Halogens

(4) Gr. 18 elements

53. Hybridisation state of N in  is :-

(1) sp (2) sp2

(3) sp3 (4) dsp2

54. In lewis structure of oxalate ion (C
2
O

4
–2) number

of lonepairs are :-

(1) 10 (2) 6 (3) 4 (4) 8

55. Which species have one unpaired electron :-

(1) O2 (2) NO

(3) F2
(4) CN–

56. Which shows highest dipole moment :-

(1) NH3 (2) NF3

(3) CO2 (4) BCl3

57. Bond angle around O in ice is close to :-

(1) 90° (2) 120°

(3) 60° (4) 109°28'

46.  :-
(1) P > Si > Cl (2) Cl > P > Si

(3) Cl > Si > P (4) Si > P > Cl

47. :-

(1) Na  Na+ + e–

(2) K  K+ + e–

(3) C+2  C+3 + e–

(4) Ca+1  Ca+2 + e–

48. 
:-
(1) I (2) Cl (3) Br (4) F

49.   :-
(1) Cl– (2) S–2 (3) K+ (4) Ca+2

50. :-
(1) Li (2) Na (3) K (4) Rb

51.      
 :-
(1) 
(2) 
(3) 
(4) 

52.  :-

(1)  

(2) 14 

(3) 

(4) 18 

53.  N  :-

(1) sp (2) sp2

(3) sp3 (4) dsp2

54. (C
2
O

4
–2) 

:-
(1) 10 (2) 6 (3) 4 (4) 8

55. :-
(1) O2

(2) NO

(3) F
2

(4) CN–

56.   :-
(1) NH3 (2) NF3

(3) CO2 (4) BCl3

57. O :-
(1) 90° (2) 120°

(3) 60° (4) 109°28'

Take it Easy and Make it Easy
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58. Which M.O. has two nodal plane perpendicular

to each other :-

(1) 2s (2) 2px

(3) 2py (4) 2pz

59. Back  donation exist in :-

(1) NF3 (2) NH3

(3) BF3 (4) BF4
–

60. What is not true about H
2
CO

3
 molecule :-

(1) C is sp2 hybridised

(2) It is a polar molecule

(3) It has two –OH group

(4)  bond is absent in molecule

61. Number of  electron present in 2.6 gm of

acetylene is :-

(1) 0.1 mol (2) 0.4 mol

(3) 0.2 mol (4) 0.3 mol

62. Configuration kk(
2s)

2(*
2s)

2(2px
)1(2py

)1

represents which molecule :-

(1) B
2 (2) C2

(3) Be2 (4) Li2

63. Which pair have two sigma and two  bond :-

(1) N
2
, HCN (2) C

2
H

2
, CO

2

(3) HCN, CO2 (4) CO2, CO

64. Both ionic and covalent bond is present in :-

(1) NaCN (2) CO2

(3) NaCl (4) N
2

65. Which of the following compound having highest

lattice energy:-

(1) CsI (2) MgO

(3) CaS (4) NaF

66. Strongest bond is present in between :-

(1) Dipole-Dipole

(2) Ion-dipole

(3) Ion-Induced dipole

(4) Ion-Ion attraction

67. O
3 + KI  product, Product obtained is :-

(1) K
2
O (2) I

2
(3) I–1 (4) IO

3
–1

68. Oxygenated water is :-

(1) O3 mixed water

(2) H2O with heavy metal

(3) Hard water

(4) H
2O2

58. M.O.         
 :-
(1) 2s (2) 2px

(3) 2py (4) 2pz

59.    :-
(1) NF3 (2) NH3

(3) BF3 (4) BF4
–

60. H
2
CO

3
   :-

(1) C-sp2 
(2) 
(3)  –OH 
(4)  

61. 2.6 gm     
 :-
(1) 0.1  (2) 0.4 
(3) 0.2  (4) 0.3 

62. kk(2s)
2(*

2s)
2(2px

)1(2py
)1 

 :-
(1) B

2 (2) C2

(3) Be2 (4) Li2

63.      :-
(1) N

2
, HCN (2) C

2
H

2
, CO

2

(3) HCN, CO2 (4) CO2, CO

64.    :-
(1) NaCN (2) CO

2

(3) NaCl (4) N
2

65.  :-

(1) CsI (2) MgO

(3) CaS (4) NaF

66.   :-
(1) -
(2) -
(3) -
(4) -

67. O
3
 + KI  , :-

(1) K
2O (2) I2 (3) I–1 (4) IO3

–1

68.  :-
(1) O

3
 

(2) H
2
O  

(3) 
(4) H2O2
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69. Dimer of which among the following have

complete octet :-

(1) BH3
(2) Al(CH

3
)
3

(3) AlCl
3

(4) All of the above

70. In the nucleus of tritium present particles are:-

(1) proton-1, neutron-3

(2) proton-1, neutron-2

(3) electron-1, neutron-1

(4) electron-1, neutron-3

71. The correct decreasing order of second IP for Na,

Mg and Al is in the order :

(1) Mg > Al > Na

(2) Na > Al > Mg

(3) Al > Na > Mg

(4) Na > Mg > Al

72. Which element has highest density :-

(1) Mg (2) Na

(3) K (4) Rb

73. Which is weakest base :-

(1) KOH (2) NaOH

(3) LiOH (4) RbOH

74. Correct order of stability of hydride is :-

(1) LiH > NaH > KH > RbH

(2) NaH > KH > RbH > LiH

(3) RbH > KH > NaH > LiH

(4) LiH > RbH > KH > NaH

75. Which imparts green color to Bunsen flame :-

(1) Sr (2) Cs (3) Ca (4) Ba

76. Temporary hardness of water is due to presence

of :-

(1) Calcium bicarbonate

(2) Magnesium bicarbonate

(3) Calcium sulphate

(4) Both (1), (2)

77. In which oxo acid S–O–O–S link is present :-

(1) Cairo's acid

(2) Marshall's acid

(3) Sulphurous acid

(4) Peroxo mono sulphuric acid

78. In which of the following silicates, one oxygen

atom is shared in between two silicate units:-

(1) Orthosilicates

(2) Sheetsilicates

(3) Cyclicsilicates

(4) Pyrosilicates

69.   

(1) BH

3
(2) Al(CH

3
)
3

(3) AlCl
3

(4) All of the above

70.  :-
(1) -1, -3
(2) -1, -2
(3) -1, -1
(4) -1, -3

71. Na, Mg  Al 

(1) Mg > Al > Na

(2) Na > Al > Mg

(3) Al > Na > Mg

(4) Na > Mg > Al

72.  :-
(1) Mg (2) Na

(3) K (4) Rb

73.  :-
(1) KOH (2) NaOH

(3) LiOH (4) RbOH

74. :-
(1) LiH > NaH > KH > RbH

(2) NaH > KH > RbH > LiH

(3) RbH > KH > NaH > LiH

(4) LiH > RbH > KH > NaH

75. :-
(1) Sr (2) Cs (3) Ca (4) Ba

76.  
:-
(1) 
(2) 
(3) 
(4) (1), (2) 

77. S–O–O–S :-
(1) Cairo's acid

(2) Marshall's acid

(3) Sulphurous acid

(4) Peroxo mono sulphuric acid

78.  
 :-
(1) 
(2) 
(3)  
(4) 

      
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79. Most volatile halide is :-

(1) HF (2) HCl

(3) HBr (4) HI

80. Which interhalogen compound is square planer in

shape :-

(1) ClF3
(2) IF

5

(3) IF4
–1 (4) BrF4

+1

81. Thermodynamically most stable allotrope of

C is :-

(1) C-graphite (2) C-diamond

(3) C-fullerene (4) C-coke

82. Xe reacts with PtF6
 to form :-

(1) XeF2 (2) Xe
+
[PtF6]

–

(3) Xe
–
[PtF

6
]+ (4) XeF

4

83. Correct statement is :-

(1) Reducing nature NH3 < PH3 < AsH3 < SbH3

(2) Boiling point SbH3 > NH3 > AsH3 > PH3

(3) Dipolemoment NH3 > SbH3 > AsH3 > PH3

(4) All of these

84. Amphoteric oxide is :-

(1) NiO (2) FeO

(3) CoO (4) ZnO

85. Common metal in solder, Gun metal and bronze

is :-

(1) Zn (2) Pb (3) Sn (4) Cu

86. Maximum paramagnetism is shown by :-

(1) [Cr(H2O)6]
+3 (2) [Fe(CN)6]–4

(3) [Fe(CN)6]
–3 (4) [Cu(H2O)6]

+2

87. Which one is least basic :-

(1) Ce(OH)3 (2) Pr(OH)3

(3) Gd(OH)
3

(4) Eu(OH)
3

88. In sodium nitropruside, oxidation state of

Fe is :-

(1) 0 (2) +2 (3) +1 (4) +3

89. Which of the following follows EAN rule (Pt-78):-

(1) [PtCl6]
–4

(2) [PtCl
6
]–2

(3) [PtCl4]
–2

(4) None of these

90. Nitropentamminechromium (III) chloride shows

which isomerism :-

(1) Polymensation

(2) Linkage

(3) Ligand

(4) Coordination

79.  :-
(1) HF (2) HCl

(3) HBr (4) HI

80. 
 :-
(1) ClF

3
(2) IF

5

(3) IF4
–1 (4) BrF4

+1

81. C 
 :-
(1) C- (2) C-
(3) C- (4) C-

82. Xe, PtF
6
   :-

(1) XeF2 (2) Xe
+
[PtF6]

–

(3) Xe
–
[PtF

6
]+ (4) XeF

4

83.  :-
(1) NH3 < PH3 < AsH3 < SbH3

(2) SbH3 > NH3 > AsH3 > PH3

(3) NH3 > SbH3 > AsH3 > PH3

(4) 
84.  :-

(1) NiO (2) FeO

(3) CoO (4) ZnO

85.                 
 :-
(1) Zn (2) Pb (3) Sn (4) Cu

86. :-
(1) [Cr(H2O)6]

+3 (2) [Fe(CN)6]–4

(3) [Fe(CN)6]
–3 (4) [Cu(H2O)6]

+2

87. :-
(1) Ce(OH)3 (2) Pr(OH)3

(3) Gd(OH)
3

(4) Eu(OH)
3

88. Fe 
:-
(1) 0 (2) +2 (3) +1 (4) +3

89. EAN (Pt-78) :-

(1) [PtCl6]
–4

(2) [PtCl
6
]–2

(3) [PtCl4]
–2

(4)  
90. (III) 

:-
(1) 
(2) 
(3) 
(4) 

         
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91.
Atmospheric N2

A D

NH3 NO3

–
NO2

–B C

Identify the differrent process in a part of nitrogen

cycle represented by A, B, C and D find the correct

match regarding the microbes that perform these

processes :-

(1) A  Rhizobium; B  Nitrobacter;

C  Nitrosomonas; D  Pseudomonas

(2) A  Rhizobium; B  Nitrosomonas;

C  Nitrobacter; D  Pseudomonas

(3) A  Frankia; B  Nitrosomonas;

C  Nitrobacter; D  Rhodospirillum

(4) A  Chlorobium; B  Nostoc;

C  Nitrobacter; D  Rhodospirillum

92. In which of the following animal, blood and
interstitial fluid are same :-
(1) Cockroaches (2) Fish
(3) Frog (4) Rabbit

93. Zinc, Chlorine, Potassium, Sulphur, Manganese,
Copper, Calcium, Magnesium.
How many of these are micronutrients ?
(1) 5 (2) 3 (3) 4 (4) 6

94. LUBB,the first heart sound is produced by :-
(1) Opening of the A.V. valves
(2) Opening of the S.L. valves
(3) Closing of A.V. Valves at the beginning of

ventricular systole
(4) Closing of A.V. Valves at the beginning of

ventricular diastole
95. Which of the following is a wrong statement

regarding the figure given below ?

Tip of
Stem

Root
(1) A disaccharide enters sieve tube cells by

active transport in leaves
(2) At the source end water moves from phloem

to xylem
(3) As hydrostatic pressure in the phloem sieve

tube increases, pressure flow begins.
(4) Loss of solute at sink end produces a high

water potential in phloem

91.
Atmospheric N2

A D

NH3 NO3

–
NO2

–B C

A, B,

C  D 

:-

(1) A  Rhizobium; B  Nitrobacter;

C  Nitrosomonas; D  Pseudomonas

(2) A  Rhizobium; B  Nitrosomonas;

C  Nitrobacter; D  Pseudomonas

(3) A  Frankia; B  Nitrosomonas;

C  Nitrobacter; D  Rhodospirillum

(4) A  Chlorobium; B  Nostoc;

C  Nitrobacter; D  Rhodospirillum

92.  
 :-
(1)  () (2) 
(3)  (4) 

93. 

  ?
(1) 5 (2) 3 (3) 4 (4) 6

94. LUBB  :-
(1)  
(2) 
(3) 


(4) 


95. ?

Tip of
Stem

Root
(1) 
 

(2) 
(3) 


(4) 
 
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96. Which of the following is incorrect :-

(1) Tricuspid valves are present in between right

auricle and right ventricle

(2) Opening of pulmonary veins have no valves

(3) Semilunar valves are tricuspid

(4) Bicuspid valve is present between right AV

junction of heart

97. The four sketches (A, B, C and D) given below,

represent four different phenomenons. Which one of

these in correctly identified in the options given?

(A)

Primary acceptor

Photon

(B)

In Out
Six CO2

18 ATP
12NADPH

One glucose
18 ADP

12 NADP

(C)
(D)

R
at

e 
o

f 
p

h
ot

o
sy

n
th

es
is

Light intensity

A B C D

(1)

Absorption 

spectrum of 

chlorophyll

Light 

harvesting

C4 cycle 

balance 

sheet

Light 

Saturation 

point

(2)

Action 

spectrum of 

photo-

synthesis

Cycle photo-

phosph-

orylation

C3 cycle 

balance 

sheet

Light 

Compensati

on point

(3)

Action 

spectrum of 

photo-

synthesis

Light 

harvesting
C3 cycle 

balance 

sheet

Light 

Compensati

on point

(4)

Action 

spectrum of 

photo-

synthesis

Light 

harvesting

Calvin 

cycle 

Balance 

sheet

Light 

Saturation 

point

96.  :-

(1)  

 

(2) 

 

(3)  

(4)  

97. (A, B, C  D) 



 ?

(A)



Photon

(B)

In Out
Six CO2

18 ATP
12NADPH

One glucose

18 ADP
12 NADP

(C)
(D)












A B C D

(1)

Dyksj k sfQy dk 

vo'kksf"kr 

o.kZØe

izdk'k 

laxzg.k

C4 pØ dh 

cSysal 'khV

izdk'k 

l af=kIrrk 

fcUnq

(2)

izdk'k l a'ys"k.k 

dk fØ;kRed 

o.kZØe

pØh; 

izdk'k 

QkLQksfjyh

dj.k

C3 pØ dh 

cSaysal 'khV

izdk'k 

l arqyu 

fcUnq

(3)

izdk'k l a'ys"k.k 

dk fØ;kRed 

o.kZØe

izdk'k 

laxzg.k

C3 pØ dh 

cSaysal 'khV

izdk'k 

l arqyu 

fcUnq

(4)

izdk'k l a'ys"k.k 

dk fØ;kRed 

o.kZØe

izdk'k 

laxzg.k

dsfYou 

pØ dh 

cSaysal 'khV

izdk'k 

l af=kIrrk 

fcUnq

   
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98. Identify a, b, c and d in the given figure :-

RA
RV

LA
LV

ca

b

d

(1) Dorsal       Body Vena cava Lungs
Aorta organs

(2) Pulmonary Brain Pulmonary Lungs
Artery veins

(3) Pulmonary Lungs Pulmonary Brain
Artery veins

(4) Vena cava Lungs Dorsal Aorta Body 
organs

a b c d

99. A constituent of both nitrogenase as well as nitrate

reductase is :-

(1) Molybdenum

(2) Copper

(3) Zinc

(4) Manganese

100. The correct route through which impulse travel

in the heart is :-

(1) S.A. node  Purkinje fibres  B.O.His 

A.V. node  Heart muscles

(2) A.V. Node  S.A. Node Purkinje fibres 

Bundle of His  Heart muscles

(3) S.A. Node  A.V. Node  B.O. His 

Purkinje fibres  Heart muscles

(4) A.V. Node  B.O.His  S.A.Node 

Purkinje fibres

98.  a, b, c  d  :-

RA
RV

LA
LV

ca

b

d

(1)

(2)

(3)

(4)

a b c d

   


  


  


    


99.     :-

(1) 

(2) 

(3) 

(4) 

100.  :-

(1)        

  

(2)      

  

(3)       

  

(4)       


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101. Given below is the diagrammatic sketch of certain
phenomenon. Identify A, B, C, D and select the
right about them  :-

D

B
A

C

A B C D

(1)
Symplastic  

path

Endodermis Apoplastic  

path

Casparian 

strip

(2)

Apoplastic  

path

Casparian 

strip

Symplastic  

path

Pericycle

(3)
Apoplastic  

path

Casparian 

strip

Symplastic  

path

Endodermis

(4)
Symplastic  

path

Casparian 

strip

Apoplastic  

path

Endodermis

102. Given below are four statements regarding human

blood circulatory system :-

(a) Arteries are thick walled and carry blood away

from heart

(b) Angina is chest pain caused due to insufficient

O
2
 supply to heart muscles

(c) S.A. node acts as pacesetter

(d) S.A. node produces 30-40 action potential per

minute

How many of the above statement are correct:-

(1) 2   (2) 3 (3) 1 (4) 4

103. Which of the following pair of functions are

caused due to root pressure ?

(1) Guttation and pushing up water to small height

in stem

(2) Guttation and transpiration

(3) Transpiration and ascent of sap

(4) Ascent of sap and translocation of organic food

104. What is true about venous plasma in humans?

(1) It does not transport O
2
 at all

(2) It transports 20-25 percent of CO
2

(3) It transport 99.5 percent of O
2

(4) It transports about 70% CO
2
 as bicarbonates

101. 
A, B, C, D 
  :-

D

B
A

C

A B C D

(1)
flEIykfLVd 

iFk

var% Ropk ,iksIykfLVd 

iFk

dSLi sfj;u 

iV~Vh

(2)
,iksIykfLVd 

iFk

dSLi sfj;u 

iV~Vh

flEIykfLVd 

iFk

ifjjEHk

(3)
,iksIykfLVd 

iFk

dSLi sfj;u 

iV~Vh

flEIykfLVd 

iFk

var% Ropk

(4)
flEIykfLVd 

iFk

dSLi sfj;u 

iV~Vh

,iksIykfLVd 

iFk

var% Ropk

102. 
 :-
(a) 


(b)    


(c) 
(d) 30-40 


  :-
(1) 2   (2) 3 (3) 1 (4) 4

103. 
 :-
(1) 


(2) 
(3)  
(4)  

104.    ?

(1)  O
2
  

(2) 20-25% CO
2


(3) 99.5% O
2 


(4) 70% CO
2
 


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105. A phenomenon that helps some plants in

minimising water loss while maximising the

availability of CO2 is :-

(1) To keep their stomata open during night

(2) Operation of C4 photosynthetic pathway

(3) Closure of stomata during water deficiency

(4) Non operation of photorespiration at low

temperature

106. Which of the following volume or capacity can

be measured by spirometry :-

(1) F.R.C. (2) R.V.

(3) T.L.C. (4) V.C.

107. Find the incorrect match :-

(1) Osmosis - Diffusion of only  solute

(2) Water potential - Less than zero for a

solution

(3) Uphill transport - Energy requiring process

(4) D.P.D. - Ability of a cell to suck

water from another cell

108. The Bohr shift describes :-

(1) The right ward shift of the entire oxygen

dissociation curve when pH falls

(2) The right ward shift of the entire oxygen

dissociation curve when pH rises

(3) The left ward shift of the entire oxygen

dissociation curve when temperature rises

(4) The left ward shift of the entire oxygen

dissociation curve when PCO
2
 rises

109. Which of the following statements in related to

the phenomenon shown in the diagram below?

Cotton

(1) Plants show curvature towards the source of

light
(2) Water and nutrients are essential for

vernalization
(3) Essential elements were identified and their

deficiency symptoms discovered
(4) All of these

105. 

CO2 :-

(1)  

(2) C4 

(3)  

(4) 

106. 
 :-
(1) F.R.C. (2) R.V.

(3) T.L.C. (4) V.C.

107.  :-
(1)  -


(2)   - 


(3)  -
(4) D.P.D. - 


108.   :-

(1) pH 
 

(2) pH 
 

(3) 


(4) CO
2
 

 
109.    

?

Cotton

(1) 


(2)    


(3) 


(4) 

        
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110. Which of the following is incorrect regarding
respiration :-
(1) Role of O

2
 is significant

(2) Chemoreceptors present in aortic arch and
carotid artery can detect the change of CO

2

in blood
(3) Pneumotaxic centre is present in Pons
(4) Herring Bruer reflex prevents over dilation of

lungs
111. Soyabean exports the fixed nitrogen as :-

(1) NH3 (2) 
4NH

(3) Amino acid (4) Ureides
112. Consider the following statements and select the

option which includes all the correct ones:-
(a) Partial pressures of O

2
 and CO

2
 in Alveolar

air are 104 mmHg and 40 mm Hg
(b) Partial pressures of O

2
 and CO

2
 in

deoxygenated blood are 40 mmHg and 45 mm
Hg respectively

(c) Partial pressures of O
2
 and CO

2
 in

deoxygenated blood are 95 mmHg and
40 mm Hg

(d) Partial pressures of O
2
 and CO

2
 in Atmospheric

air are 40 mmHg and 46 mm Hg
Options :
(1) Statements a,b and c are correct
(2) Statements a,b,c and d are correct
(3) Statements a, d are correct
(4) Staements c and d are correct

113. Given below is the diagrammatic sketch of a
certain phenomenon. Identify the parts labelled A,
B, C and D and select the right option about them:-

CBA

D

H+ H
+

H
+

H+

A B C D

(1) Site of 

water 

Cytochrome 

a & a3

Site of 

NADPH 

F0 - F1 

complex

(2) PS I Site of entry 

of protons in 

thylakoid 

lumen

PS II Site of 

ATP 

synthesis

(3) Site of 

NADPH 

formation

Site of water 

splitting

PS I F0 - F1 

complex

(4) PS II Cytchromes 

b & F

Site of 

NADPH 

Site of 

ATP 

110. :-
(1) O

2
 

(2) 
CO

2
    

(3)  

(4) 


111. ?
(1) NH3 (2) 

4NH

(3)  (4) 
112. 

 :-
(a) O

2
  CO

2
 

104 mmHg  40 mm Hg 
(b)  O

2
  CO

2
 

40 mmHg  45 mmHg 
(c)    O

2
  CO

2
  

95 mmHg  40 mm Hg

(d)    O
2
 CO

2
   

40 mm Hg 46 mmHg 
 :
(1)  a,b  c 
(2)  a,b,c  d 
(3)  a  d 
(4)  c  d 

113. 
A, B, C D 
   :-

CBA

D

H+ H
+

H
+

H+

A B C D

(1)
tyvi?kVu 

dk LFkku

lkbVªksØkse a 

rFkk a3

NADPH ds 

la'ys"k.k dk LFkku

F0 - F1 dkEiysDl

(2)

PS I FkkbysdkWbV dh 

xqfgdk esa 

izksVksuksa ds izos'k 

djus dk LFkku

PS II ATP ds la'ys"k.k 

dk LFkku

(3)

NADPH 

ds la'ys"k.k 

dk LFkku 

tyvi?kVu 

dk LFkku

PS I F0 - F1 dkEiysDl

(4)
PS II lkbVªksØkse b 

rFkk F

NADPH ds 

la'ys"k.k dk LFkku

ATP ds la'ys"k.k 

dk LFkku
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114. The graph shows an oxygen dissociation curve of

haemoglobin
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Where in the body will haemoglobin be saturated
at the percentages shown at points A, B and C on

the graph :-

(1) A B C

(2) B A C

(3) A C B

(4) C B A

Left ventrical Pulmonary Vena Cava
vein

115. At which step of Calvin cycle the products of light
reaction are used ?
(1) Regeneration (2) Carboxylation
(3) Reduction (4) Transamination

116. The conformational change that is brought by first
O

2
 molecule in the structure of haemoglobin to

facilitate binding of other 3 molecules is
known as :-
(1) Pastuer effect (2) Haeme-haeme effect
(3) Hamburger's effect (4) Chloride shift

117. Find the incorrect match :-
(1) Maize - C3 cycle
(2) Sugarcane - No photorespiration
(3) Wheat - No CO2 fixation in bundle sheat cell
(4) Rice - Transfer of malic acid to bundle sheath

cell from mesophyll cell
118. Which of the following options gives the correct

categorisation of animals according to the type of
respiratory structures :-

(1) Sponge, Insects Pisces Tadpoles Insects
Coelentrates
Flat worms

(2) Sponge, Aquatic Earthworm Reptiles Insects
Coelentrates Arthropods, Frog Aves
Flat worms Pisces Mammals

(3) Ea

Body surface Gills Moist Skin Lungs Tracheae

rthworm Aquatic Insects Reptiles Frog
and Frog Arthropods, Aves

Pisces Mammals

(4) Earthworm Amphibia Insects  Reptiles Aves
and Frog Aves

Mammals

114. 

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A, B  C 
 :-

(1) A B C

(2) B A C

(3) A C B

(4) C B A

  


115. 
?
(1)  (2) 
(3)  (4) 

116.    O
2
    


 :-
(1)  (2) 
(3)  (4)  

117.  :-
(1)  - C3 
(2) - 
(3)  - CO2 
(4)  -  
 

118. 
   :-

(1)

(2)

  


      


    
 

(3)

(4)



  


  


Time Management is Life Management
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119. In the options given below A, B, C and D represent

various function regulated by phytohormones.

Choose the option that shows all the functions

regulated by same hormone :-

A B C D

(1)

Production 

of new 

leaves

Overcome

s apical 

dominance

Promotes 

nutrient 

mobilization

Apical 

hook 

formation

(2)

Delaying of 

senescence 

Speeds up 

malting

Early seed 

production 

in conifers

Promotes 

bolting

(3)

Breaks 

seed and 

bud 

dormancy

Promotion 

of 

flowering 

in 

pineapple

Stress 

hormone

Rapid 

internode 

elongation 

in deep 

water rice 

plants

(4)

Initiates 

rooting in 

stem cutting 

Promotes 

apical 

dominance

Promotes 

nutrient 

mobilisation

Promotion 

of seed 

maturation 

and 

dormancy

120. Which of the following vein does not drain into

portal vein in humans ?
(1) Right gastric (2) Inferior mesentric

(3) Renal vein (4) Splenic and pacreatic

121. Which of the following hormones was discovered

from autoclaved hering sperm DNA?

(1) Auxin (2) Gibberellin

(3) Ethylene (4) Cytokinin

122. Macrophage is a prime phagocytic cell. Which one

is not a phagocytic cells.

(1) Microglial cell (2) Kupffer cells

(3) Monocyte (4) Astrocyte

123. Find the correct match :-

(1) Glycolysis - PPP

(2) Krebs Cycle - TCA cycle

(3) Calvin Cycle - C2 Cycle

(4) Photorespiration - C4 cycle

124. Which muscles has functionally multinucleated

condition ?

(1) Cardiac muscle

(2) Smooth muscle

(3) Voluntary muscle and smooth muscle

(4) All of the above

119.  A, B, C  D 


 :-

A B C D

(1)

u;h ifÙk;ksa 

dk fuekZ.k

f'[kkxz iz/kkurk 

ls NqVdkjk 

fnykuk

iks"kdksa ds 

lapkj dks 

c<+kok n suk 

f'k[ kkxz 

gqd cukuk

(2)

tjkoLFkk dks 

jksduk

ekfYV ax dh xfr 

dks c<+kuk

 'kadqo{̀kksa e sa 

cht tYnh 

rS;kj djuk

cksfYVax dks 

c<+kok nsuk

(3)

dfydk 

izlqIrrk dks 

rksM+uk

vukukl esa 

iq"iu dks c<+kok 

nsuk 

ruko 

gkeksZu

xgjs ikuh 

ds /kku ds 

ikS/ksa e sa ioZ 

nhf?kZdj.k 

djuk

(4)

rus dh 

dfVax e sa 

tM+ cuus 

dks c<+kok 

nsuk

f'k[kkx z iz/kkurk 

dks c<+kok nsuk 

iks"kdksa ds 

lapkj dks 

c<kok n suk 

chtksa ds 

ifjiDou 

rFkk 

izlqIrrk 

dks izsfjr 

djuk

120.    
 ?
(1)  (2) 
(3)   (4) 

121. 
DNA ?
(1)  (2) 
(3)  (4) 

122.   

(1)  (2) 
(3)  (4) 

123.   :-
(1)  - PPP

(2)  - TCA 
(3)  - C2 
(4)  - C4 

124.  
(1) 

(2) 

(3)  

(4) 
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125. What is the net gain of energy from two glucose
molecules in lactic acid fermentation ?
(1) 45% (2) >25% (3) < 1% (4) <7%

126. The photosensitive compounds (photo-pigments) in
the human eyes is composed of opsin (a protein)
and retinal, retinal -
(1) an aldehyde of vitamin A
(2) a ketone of vitamin A
(3) an aldehyde of vitamin D
(4) an ketone of vitamin D

127. Find the correct set regarding ETS and oxidative
phosphorylation :-

A B C D

(1)

Complex-

I 

Oxidation 

of 

FADH2

Complex II- 

Cyt bC1 

complex

Complex 

IV - Cyta 

a3 

complex

Complex 

V - ATP 

synthase

(2)

Complex-

I NADH 

dehydrog

enase

Complex III-

cyt C

Complex 

IV - ATP 

synthase

Complex 

V - 

Metabolic 

water 

production

(3)

Complex-

II 

Oxidation 

of 

FADH2

Complex III- 

cyta a3

Complex 

IV Cyt 

bC1 

Complex 

V - ATP 

synthesis

(4)

Complex-

I NADH 

dehydrog

enase

Complex-II 

Oxidation of 

FADH2

Complex 

III Cyt 

bC1 

complex

Complex 

V - ATP 

synthase

128. In following graph of muscle where the all or none
law doesnot apply/follow :-

(1) Height
of cont-
raction

Time

(2) 

Time

Height
of cont-
raction

(3) 

Time

Height
of cont-
raction

(4) All of the above

125.  
 ?
(1) 45% (2) >25% (3) < 1% (4) <7%

126. 

 -
(1) A 
(2) A 
(3) D 
(4) D 

127. 
  :-

A B C D

(1)

dkWEiysDl-I- 

FADH2 dk 

vkWDlhdj.k

dkWEiysDl II-

lkbVªksØkse 

bC1 

dkEiysDl

dkWEiysDl IV-

lkbVªksØkse a 

a3 dkEiysDl

dkWEiysDl 

V-ATP 

flaFkst

(2)

dkWEiysDl-I- 

NADH 

MhgkbMªk sftust

dkWEiysDl III-

lkbVksØkse C

dkWEiysDl IV-

ATP flaFk st

dkWEiysDl 

V- 

mikip;h 

ty dk 

fuekZ.k

(3)

dkWEiysDl-II- 

FADH2 dk 

vkWDlhdj.k

dkWEiysDl III-

lkbVksØkse a 

a3

dkWEiysDl IV-

lkbVksØkse 

bC1 

dkWEiysDl 

V-ATP 

fuekZ.k

(4)

dkWEiysDl-I- 

NADH 

MhgkbMªk sftust

dkWEiysDl-II- 

FADH2 dk 

vkWDlhdj.k

dkWEiysDl III-

lkbVksØkse 

bC1 

dkEiysDl

dkWEiysDl 

V-ATP 

flaFkst

128. All None 
 

(1) Height
of cont-
raction

Time

(2) 

Time

Height
of cont-
raction

(3) 

Time

Height
of cont-
raction

(4) 
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129. Out of the two statements given here :-

(A) C4 plants are more effective in reducing the

green house effect as compared to C3 plants.

(B) C3 plants show photorespiration at high CO2

concentration.

(1) Only (A) is correct

(2) Both (A) and (B) are incorrect

(3) Only (B) is correct

(4) Both (A) and (B) are correct

130. Which type of nervous system is the site of

information processing of control.

(1) A.N.S (2) S.N.S (3) C.N.S (4) P.N.S

131. What is regenerated in the regeneration phase of

Calvin cycle ?

(1) Glucose (2) RuBP

(3) OAA (4) ATP

132. Neural organisation is composed of network of

neuron is............whereas it is present in the form

of neural tissue in..........

(1) Insect, porifera (2) Hydra, Insects

(3) Hydra, Protozanas (4) Protozoans Insects

133. Observe the diagram given below related to

fermentation and choose the correct option :-

A

Pyruvic Acid

P + Q

NAD
+

NADH + H
+

NADH + H
+

NAD+

(1) A - Ethanol, P - Lactic acid, Q - H2O

(2) A - Lactic acid, P - Ethanol, Q - H2O

(3) A - Lactic acid, P - Ethanol, Q - CO2

(4) A - Ethanol, P - Lactic acid, Q - CO2

134. Which system of our body act to co-ordinate and

integrate the activities of organs so that they

function in a synchronized fashion :-

(1) Excretory and reproductive

(2) Neural and endocrine

(3) Excretory and digestive

(4) Neural and excretory

135. Flowering can be promoted in how many of the

following plants by vernalisation ?

Sugarbeet, Spring variety of rye, cabbage, winter

variety of wheat, carrots, mango, orange:

(1) 4 (2) 5 (3) 3 (4) 6

129.   :-
(A) C4 C3 

 
(B) C3 CO2 


(1)  (A) 
(2) (A)  (B) 
(3)  (B) 
(4) (A)  (B) 

130. 
 
(1) A.N.S (2) S.N.S (3) C.N.S (4) P.N.S

131. 
?
(1)  (2) RuBP

(3) OAA (4) ATP

132. ............. 
-----------
 
(1)  (2) 
(3)  (4) 

133. 
 :-

A

Pyruvic Acid

P + Q

NAD
+

NADH + H
+

NADH + H
+

NAD+

(1) A - Ethanol, P - Lactic acid, Q - H2O

(2) A - Lactic acid, P - Ethanol, Q - H2O

(3) A - Lactic acid, P - Ethanol, Q - CO2

(4) A - Ethanol, P - Lactic acid, Q - CO2

134. 

 
(1) 
(2) 
(3)  
(4) 

135. 
?

  :
(1) 4 (2) 5 (3) 3 (4) 6
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136. Which statements is/are incorrect regarding the

hormones :-

(1) They act as intercellular messenger

(2) They are poduce in traces

(3) They are nutritive chemicals

(4) They are secretory substance of endocrine

gland

137. Formation of vessels from apical meristem is:

(1) Differentiation (2) Elongation

(3) Dedifferentiation (4) Redifferentiation

138. Which one is vital functions for the survival of

animals as it enables them to procure food, search

shelter, find mates and protect themselves from

predators ?

(1) Movement (2) Conduction

(3) Co-ordination (4) Locomotion

139. In which of the following process maximum

number of NADH + H+ are formed :-

(1) 1 Mol Glucose  2 Mol pyruvic acid

(2) 1 Mol Pyruvic acid  1 mol acetyl CoA

(3) One round of Krebs Cycle

(4) One round of Hatch and slack cycle

140. The protein whose removal enables myosin to

bind actin in skeletal muscle is :-

(1) Tropomyosin (2) Caldesmin

(3) Tryptophan (4) Calmodulin

141. (a) C4 pathway is found in plants adapted to dry

tropical regions

(b) In C4 plants CO2 is fixed with the help of

RuBisCO in bundle sheath cells

(c) C4 plants show saturation at lesser CO2

concentration as compared to C3 plants

(1) All are correct

(2) Only (c) is incorrect

(3) Only (b) is incorrect

(4) Only (b) and (c) are correct

142. This mechanism shows the working of which

hormone :

T

T

T

(a) Somatostatin (b) Oxytocin

(c) Gastrin (d) T.S.H.

(1)  a and b (2) b and c

(3) a and d (4) a and c

136.  :-
(1) 



(2)  

(3) 

(4)    
137.    :

(1)  (2) 
(3)  (4) 

138.   
   
  

(1)  (2) 
(3)  (4) 

139. NADH + H+ 
 :-
(1) 1    2 
(2) 1    1 CoA

(3) 
(4) Hatch Slack 

140. 
 
(1)  (2) 
(3)  (4) 

141. (a) C4 


(b) C4 RuBisCO  
CO2  

(c) C4 C3 CO2 


(1) 
(2) (c) 
(3) (b) 
(4) (b)  (c) 

142.  

T

T

T

(a)  (b) 
(c)  (d) T.S.H.
(1)  a  b (2) b  c
(3) a  d (4) a  c
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143. Despite the presence of a green leaf, sufficient

light and CO2 concentration the plant is unable

to perform proper photosynthesis due to very low

temperature. The concept behind this was

explained by the scientist who discovered :-

(1) Light reaction

(2) Dark reaction

(3) Photorespiration

(4) Vernalization

144. In following diagram A & B respectively would

move towards :-

Malleus

Incus

Stapes

Semicircular 
canal

Vestibular 
nerve (A)

Cochlear 
nerve (B)

Auditory 
canal

Tympanic
membrane Cochlea

Eustachian
tube

(1) Cerebrum & cerebellum

(2) Cerebellum and cerebrum

(3) Only cerebrum

(4) Only cerebellum

145. Match the columns correctly :-

Column-I Column-II

(i) Julius van sachs (a) Auxin

(ii) E.Kurosova (b) Hydroponics

(iii) Jan Ingen housz (c) Sunlight is essential

to plant process

(iv) Charles Darwin (d) Gibberellic acid

(1) i - c, ii - d iii -b iv - a

(2) i - b, ii - d iii - c iv - a

(3) i - d, ii - a iii - c iv - b

(4) i - b, ii - d iii - a iv - c

143.   ,       CO2     

  

          



   :-

(1) 

(2) 

(3) 

(4) 

144.     A B     

 :-

Malleus

Incus

Stapes

Semicircular 
canal

Vestibular 
nerve (A)

Cochlear 
nerve (B)

Auditory 
canal

Tympanic
membrane Cochlea

Eustachian
tube

(1) 

(2) 

(3) 

(4) 
145.   :-

 -I  -II

(i)  (a) 

(ii) . (b) ()

(iii)   (c)   



(iv)  (d) 

(1) i - c, ii - d iii - b iv - a

(2) i - b, ii - d iii - c iv - a

(3) i - d, ii - a iii - c iv - b

(4) i - b, ii - d iii - a iv - c
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146. In following diagram respond would be exhibited:-

Efferent pathway

Motor endplate
(Effector)

Afferent pathway
Sensory
neuron

Dorsal root
ganglion

White
matter

Interneuron

Response

Stimulus

Muscle spindle
(receptor)

+

–

= stimulates

= inhibits

Gray
matter

Motor
neuron

(1) In presence of interneuron, afferent stimulus,

analysed by brains

(2) In absence of interneuron, away from stimulus,

analysed by brains

(3) In absence of interneuron, afferent stimuluses,

analysed by brains

(4) In presence of interneuron, away from

stimulus, analysed by brains

147. Deficiency of which of the following will be first

observed in young leaves ?

(1) Nitrogen

(2) Phosphorus

(3) Potassium

(4) Calcium

148. In following diagram of retina direction of light

would be-

Direction
of light

Ganglion 
cells

Axons of 
ganglion cells Horizontal 

cell

Amacrine 
cell

Bipolar 
cell

Cone Rod
Pigmented
epithelium

(A) (B)

(A) A to B

(B) B to A

(C) Inner to outer layer

(D) Outer to inner layer

(1) Only A (2) B and C

(3) A and C (4) Only D

146.  

Efferent pathway

Motor endplate
(Effector)

Afferent pathway
Sensory
neuron

Dorsal root
ganglion

White
matter

Interneuron

Response

Stimulus

Muscle spindle
(receptor)

+

–

= stimulates

= inhibits

Gray
matter

Motor
neuron

(1) 
 

(2) 
 

(3) 
 

(4) 
 

147. 
?
(1) 
(2) 
(3) 
(4) 

148.     

Direction
of light

Ganglion 
cells

Axons of 
ganglion cells Horizontal 

cell

Amacrine 
cell

Bipolar 
cell

Cone Rod
Pigmented
epithelium

(A) (B)

(A) A  B

(B) B  A

(C) 

(D) 

(1)  A (2) B  C

(3) A  C (4)  D
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149.

Solution Solution
A B

Semi
permeable
membrane

Fig-1

Solution Solution
A B

Fig-2

Semi
permeable
membrane

(Both at same temperature and pressure)

Find the correct option for the diagram given above:

A B A B

(1)

10 M 

Sugar 

Solution

10 M 

Sugar 

Solution

10 M 

NaCl 

Solution

10 M 

Sugar 

Solution

(2)

10 M 

NaCl 

Solution

10 M 

Sugar 

Solution

5 M 

Sugar 

Solution

10 M 

Sugar 

Solution

(3)

10 M 

NaCl 

Solution

5 M 

NaCl 

Solution

5 M 

NaCl 

Solution

10 M 

NaCl 

Solution

(4)

10 M 

NaCl 

Solution

10 M 

Sugar 

Solution

10 M 

Sugar 

Solution

10 M 

Sugar 

Solution

Fig - 1 Fig -2

150. Muscle fiber is covered by endomycium and lined

by --------

(1) Perimycium

(2) Epimycium

(3) Sarcolemma

(4) Fibrous coating

151. Which of the following reaction is not oxidative

decarboxylation ?

(1) Pyruvic acid  Acetyl coA

(2) Malic acid  Oxaloacetic acid

(3) Isocitric acid  -ketoglutaric acid

(4) -Ketoglutaric acid  Succinyl CoA

152. Which brains is called large & lesser brains

respectively.

(1) Cerebellum & cerebrum

(2) Medulla & cerebellum

(3) Thalamus & hypothalamus

(4) Cerebrum & cerebellum

149.

 
A B




-1

 
A B

-2




 
     :-

A B A B

(1)

10 M 

'kdZjk 

foy;u

10 M 

'kdZjk 

foy;u

10 M 

NaCl 

foy;u

10 M 

'kdZjk 

foy;u

(2)

10 M 

NaCl 

foy;u

10 M 

'kdZjk 

foy;u

5 M 

'kdZjk 

foy;u

10 M 

'kdZjk 

foy;u

(3)

10 M 

NaCl 

foy;u

5 M 

NaCl 

foy;u

5 M 

NaCl 

foy;u

10 M 

NaCl 

foy;u

(4)

10 M 

NaCl 

foy;u

10 M 

'kdZjk 

foy;u

10 M 

'kdZjk 

foy;u

10 M 

'kdZjk 

foy;u

fp=k - 1 fp=k - 2

150. 
 

(1) 

(2) 

(3) 

(4) 
151. 

 :-
(1) Pyruvic acid  Acetyl coA

(2) Malic acid  Oxaloacetic acid

(3) Isocitric acid  -ketoglutaric acid

(4) -Ketoglutaric acid  Succinyl CoA

152. 



(1) 

(2) 

(3) 

(4) 
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153. How many of following statements are correct?

(a) Diffusion is not dependent on living system

(b) Facilitated diffusion sets up concentration

gradient with the help of transport proteins

(c) A cell shows plasmolysis when extracellular

fluid has higher W

(d) Imbibition takes place at the expence of

energy (ATP)

(1) 1 (2) 2 (3) 3 (4) 4

154. What is true about nerve impulse :-

(A) Having same amplitude

(B) Having same frequency

(C) Having different amplitude

(D) Having different frequency

(1) A and B (2) A and D

(3) B and C (4) A and C

155. Prominent symptom of manganese toxicity is:-

(1) Non germination of seeds

(2) Appearance of necrotic spots at leaf margine

(3) Appearance of brown spot surrounded by

chlorotic veins

(4) Stunting of plants

156. The nerve impulse is initiated by :

(1) Polarization of an axonal membrane

(2) Depolarization of an axonal membrane

(3) Repolarization of an axonal membrane

(4) Hyperpolarization of an axonal membrane

157. Which of the following is true for RQ ?

Protein Carbohydrate Fat

(1) 0.7 1.33 0.9

(2) 0.9 0.7 1.00

(3) 0.9 1.00 0.7

(4) 1.00 1.00 0.7

158. Cellular reaction like regulation of glucose

concentration are faster and more accurate

because :-

(a) It is regulated by the ratio of two antagonistic

hormones

(b) It is regulated by the absolute levels of a single

hormones

(c) It is regulated by the synergestic effect

(d) It is regulated by the glucagon and Insulin

How many of the above statements are correct:-

(1) One (2) Two

(3) Three (4) Above all

153.  ?
(a)  
(b) 
 

(c)  W  


(d)       (ATP)     


(1) 1 (2) 2 (3) 3 (4) 4

154.  

(A)
(B) 
(C) 
(D) 
(1) A  B (2) A  D
(3) B  C (4) A  C

155.  :-
(1) 
(2)                   


(3) 
 

(4) 
156. 

(1) 
(2)  
(3) 
(4) 

157.  ?
  

(1) 0.7 1.33 0.9

(2) 0.9 0.7 1.00

(3) 0.9 1.00 0.7

(4) 1.00 1.00 0.7

158. 

(a) 


(b) 


(c)  


(d) 



(1)  (2) 
(3)  (4) 
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159. Observe the reaction below :-

R  – C– COO¯ + R  – C – COO¯1 2

H

NH3
+ O

R  – C– COO¯ + 1

O

R  – C– COO¯ 2

H

NH3
+

The above reaction is related to synthesis of:

(1) Amino acid (2) Amide

(3) Ureide (4) Polypeptide

160. Steroid hormones are fat soluble as they enters in

to the cell and work at gene level, in this process:-

(a) Binding of hormone alters the gene expression

(b) Initiate the gene transcription that carries the

information of hormone

(c) Repressing the transcription which do not carry

the information of hormone

(d) Initiate the repressing of gene transcription

which carry the information of hormone

How many statement are correct :-

(1) Above all (2) One

(3) Two (4) Three

161.  

Light

e  acceptor
–

Electron
transport
system

Chlorophyll

ATP

A
D

P 
+IP

 :-

a - ATP synthesi

b - PS - II involved

c - Enzyme NADP reductose is used

d - Fe-S as first electron acceptor

e - Takes place in stroma lavellal

f - Can not operate above 680 nm of light

g - Provides additional ATP required in dark

reaction.

h - No photolysis of water

How many of the above apply to this figure ?

(1) a, c, d, e, g (2) a, d, e, g, h

(3) a, b, e, f, h (4) b, d, f, g, h

159.  :-

R  – C– COO¯ + R  – C – COO¯1 2

H

NH3
+ O

R  – C– COO¯ + 1

O

R  – C– COO¯ 2

H

NH3
+

 :
(1)  (2) 
(3)  (4) 

160. 

(a) 


(b) 
 

(c) 


(d) 
  

      
(1)  (2) 
(3)  (4) 

161.  

Light

e  acceptor
–

Electron
transport
system

Chlorophyll

ATP

A
D

P 
+IP

 :-

a - ATP 
b - PS - II 
c - NADP 
d - e– Fe-S

e - 
f - 680 nm 
g - ATP


h - 
  ?
(1) a, c, d, e, g (2) a, d, e, g, h

(3) a, b, e, f, h (4) b, d, f, g, h
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162. Cholesterol based hormone is released from-

(a) adrenal medulla only

(b) both adrenal cortex and medulla

(c) adrenal cortex only

(d) testis and ovary

(1) a and d (2) a and c

(3) both (1) and (2) (4) c and d

163. Read the following four statements (A–D) :-

(A) Infection in alimentary canal can be caused

by roundworm

(B) Rennin enzyme found in gastric juice of

infants helps in digestion of milk sugar.

(C) Principle organ for absorption of nutrients

is small intestine

(D) Serosa is the outermost layer of alimentary

canal

How many of the above statements are correct?

(1) Four (2) One (3) Two (4) Three

164. Nervous system is different from endocrine

because it shows :-

(a) Point to point effect

(b) Widely speaded effect

(c) Slow speed of service

(d) Fast speed of service

(1) a and d (2) a and c

(3) b and c (4) c and d

165. How many enzymes in the list given below are found

in pancreatic juice?

Lactase, Trypsinogen, Pepsin, Chymotrypsinogen,

Aminopeptidase,  Rennin, Procarboxypeptidase,

Nuclease, Maltase

(1) Six (2) Three (3) Four (4) Five

166. Medulla Oblongata is :-

(a) Highly convoluted structure

(b) Centre for cardiovascular activities and gastric

secretion

(c) Also controls conditioned reflex action

(d) Has outer gray matter and inner white matter

How many statements are incorrect :-

(1) One (2) Two

(3) Three (4) Above all

162.  

(a) 
(b) 

(c) 
(d) 
(1) a  d (2) a  c

(3) (1) (2)  (4) c  d
163. (A–D)  :-

(A) 



(B) 

  

(C) 



(D) 

 

(1)  (2)  (3)  (4) 

164. 


(a) 

(b) 
(c) 

(d) 
(1) a  d (2) a  c
(3) b  c (4) c  d

165.  



              

   



(1)  (2)  (3)  (4) 
166. 

(a) 
(b) 


(c)    
(d) 
 

 
(1)  (2) 
(3)  (4) 
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167. Read the following five statement and answer as

asked next to them ?

(a) Peptic cells secrete the proenzyme pepsinogen

(b) Enterokinase is a digestive enzyme of

pancreatic juice

(c) Haustra are found in large intestine

(d) For its activity carboxypeptidase requires zinc

(e) Spicy food may cause indigetion

How many of  the above sta tements are

incorrect ?

(1) Four (2) One

(3) Two (4) Three

168. Neuron are excitable cell about this statement

which explanation is/are correct :-

(A) Neuron is the only cell uses Na+-K+ pumps

for derivation of energy

(B) Neuron is the only cell which can receive

energy from external environment

(C) Neuron is the cell having certain channel

works on the basis of energy

(D) Axon is the part which convey the energy and

get excited

(1) Only one (2) Two

(3) Three (4) All

169. A young person is suffering from cancer of

tongue. His tongue is completely removed, then

which of the following situation will describe the

person that he will not be able to-

(1) Taste sweet & salty.

(2) Not able to taste sweet, but able to taste salty.

(3) Perceive the odour of rose but not able to taste

sweet and salt.

(4) Taste sweet and salty, but not perceive to the

odour of rose.

170. How many statements are correct regarding

neuron of nervous system :-

(A) Afferent neuron carries signal from C.N.S to

the effector

(B) Reflex actions are involuntary.

(C) Involvement of C.N.S is required for some

reflex action

(D) Neuron is also called excitable cells

(1) Only one      (2) Two

(3) Three        (4) All statement are correct

167. 

(a)  

 

(b)  

(c)  

(d) Zn



(e) 

   

(1)  (2)  (3)  (4) 

168. 


(A) 
Na+-K+  

(B) 
 

(C) 
 

(D) 


(1)  (2) 
(3)  (4) 

169. 







(1)  

(2) 

 

(3) 

  

(4) 


170. 


(A) C.N.S. 
 

(B)  
(C)  C.N.S 
(D) 
(1)  (2) 
(3)  (4) 
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171. The below diagram is a duct system of liver, gall

bladder and pancreas. The names of ducts from
A to D :-

A

B

C

Ducts from liver

D

Duodenum

Gall bladder

Pancreas

(1) A - Cystic duct, B - Bile duct, C - Pancreatic

duct, D - Hepato-pancreatic duct.
(2) A - Bile duct, B - Cystic duct, C - Pancreatic

duct, D - Hepato-pancreatic duct.
(3) A - Cystic duct, B - Bile duct, C - Hepato-

pancreatic duct, D - Pancreatic duct.
(4) A - Cystic duct, B - Pancreatic duct, C - Bile

duct, D - Hepatio-pancreatic duct.

172. Which points are correct about angiotensin-II

(a) Decreases the glomerular blood pressure.

(b) Activates the adrenal cortex to release

aldosterone

(c) Powerful vasoconstrictor

(d) Decreases the GFR

(e) Activates the JG cells to release renin.

(1) a, b, c (2) a, d, e

(3) c, d, e (4) b, c

173. Consider the following four statements (a-d) and

select the option which includes all the correct

ones only :-

(a) Small intestine is principle organ for

absorption of nutrients.

(b) Reflex action for vomiting is controlled by

medulla.

(c) Frequent bowel movements cause diarrhoea

(d) Submucosa forms gastric gland in the stomach

(1) Statements (b), (c) and (d)

(2) Statements (a), (b) and (c)

(3) Statements (c), (d)

(4) Statements (a), (b), and (d)

171. 
A D  :-

A

B

C

Ducts from liver

D

Duodenum

Gall bladder

Pancreas

(1) A - , B - , C - 
, D - 

(2) A - , B - , C - 
, D - 

(3) A - , B - , C - 
, D - 

(4) A - , B - , C - 
, D - 

172. -II   

(a) 

(b) 



(c)  

(d) GFR 

(e) JG cells   

(1) a, b, c (2) a, d, e

(3) c, d, e (4) b, c

173. (a-d) 


(a) 

(b)    
 

(c) (Frequent) 

(d)  



(1)  (b), (c)  (d)

(2)  (a), (b)   (c)

(3)  (c), (d)

(4)  (a), (b),  (d)
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174. Find out the incorrect statement

(1) Ammonia is the most toxic form and requires

large amount of water for its elimination.

(2) Kidneys play any significant role in ammonia

removal.

(3)  Human kidneys can produce hypertonic urine

nearly four times concentrated than the initial

filtrate.

(4) Urea may be retained in the kidney matrix of

some animals to maintain a desired

osmolarity.

175. Deficiency of which of the following results in
anemia ?

(1) Iron (2) Vit.–B12

(3) Folic acid (4) All of the above

176. Which statement is not correct about glomerular
filtration?

(1) On an average 1100-1200 ml of blood is

filtered by the kidney per minute.

(2) Glomerular filtrate is blood plasma except

protein & blood corpuscles.

(3) GFR in a healthy individual is approximately

125 ml/minute or 180 lit per day.

(4) The complete blood plasma is filtered in

ultrafiltration process.

177. Which of the following is correct :-

(1) Starch Maltase
  disaccharides

(2) Fats Bile  Diglycerides

(3) Nucleic acid Nuclease
  Nucleotide

Nucleotidase
  nucleoside

(4) All of the above

178. Which statement are true regarding reabsorption.

(1) Nearly 99 percent of the filtrate has to be

reabsorbed by the renal tubules.

(2) Nearly all of the essential nutrients are

reabsorbed by PCT.

(3) DCT is also capable of reabsorption of HCO
3
–

(4) All of the above

174.  

(1) 

       

 

(2) 



(3)  



 

(4) 

 



175.  ?

(1)  (2) Vit.–B12

(3) Folic acid (4) 

176.  

(1) 1100-1200 ml 



(2) 



(3)      GFR   

125 ml/180 

(4)   


177.  :-

(1) Starch Maltase
  disaccharides

(2) Fats Bile
  Diglycerides

(3) Nucleic acid Nuclease
  Nucleotide

Nucleotidase
  nucleoside

(4) 

178. 
(1) 99 


(2) PCT


(3) DCT  HCO

3
– 


(4) 
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179. Correct match list-1 with list-2

List-1 List-2

(A) Glycosuria (i) Inflammation of

glomeruli of

kidney

(B) Ketonuria (ii) Presence of

glucose in urine

(C) Glomerulonephritis (iii) Excess of urea in

blood

(D) Uremia (iv) Presence of

ketone bodies of

urine

(1) A-(i), B-(ii), C-(iii), D-(iv)

(2) A-(ii), B-(iv), C-(iii), D-(i)

(3) A-(ii), B-(iv), C-(i), D-(iii)

(4) A-(i), B-(ii), C-(iv), D-(iii)

180. Conditional reabsorption of Na+ and water takes

place in :

(1) PCT (2) DCT

(3) Henle's loop (4) Bowman's capsule

179. -1  -2 

List-1 List-2

(A) Glycosuria (i) 



(B) Ketonuria (ii)  



(C) Glomerulonephritis (iii)    



(D) Uremia (iv)  



(1) A-(i), B-(ii), C-(iii), D-(iv)

(2) A-(ii), B-(iv), C-(iii), D-(i)

(3) A-(ii), B-(iv), C-(i), D-(iii)

(4) A-(i), B-(ii), C-(iv), D-(iii)

180. Na+   

(1) PCT  (2) DCT 

(3)  (4) 

Your moral duty

is that to prove  is 
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